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QUESTION 1

A fnancial services company has implemented their frst BPM applicaton for their account openini process. Durini their
second BPM project another line of business is also workini on their version of an Account Openini process, and has
identfed several components from the frst applicaton that they want to reuse. What should the BPM applicaton
developer do to reuse these components? 

A. Copy the elements of an account openini to the second process applicaton as not to duplicate work. 

B. Copy the elements of an account openini to a new toolkit that is used by the second process applicaton and leave the
frst process untouched. 

C. Take a snapshot of the frst process applicaton and make the second process applicaton dependent on this
snapshot. 

D. Move the elements of an account openini to a new toolkit and make both process applicatons dependent of the new
toolkit. 

Correct Answer: D 

 

QUESTION 2

A BPM Applicaton developer needs to construct an inteiraton service that will access an external web service. The web
service has been predefned in the process applicaton setnis. The BPM applicaton developer creates a new inteiraton 

service and adds a web service inteiraton to the canvas. Since this is a predefned web service, on the implementaton
tab, the BPM applicaton developer selects "From process applicaton setnis" for the discovery scheme. 

What should be the next step in confiurini the web service connector usini the predefned server for the BPM applicaton
developer? 

A. insert the url and use the "Discover" buton. 

B. Fill in the data mappini tab in the web service propertes. 

C. Select the defned web service and select which operaton to use. 

D. Generate the data types that will be inputs and outputs for the web service. 

Correct Answer: C 

 

QUESTION 3

A tre producton company requests to be informed via email if a new custom-ter request approvals take too loni. If 20
approval steps take lonier than 2 hours, manaiement must be informed. 

How does a BPM applicaton developer solve this request? 

The BPM applicaton developer creates: 

A. A scheduler which queries the database and sends mail if the conditon is met. 
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B. a SLA with a "Violated N tmes over period" triiier and "send mail to" as the consequence. 

C. A SLA with a "Violated N tmes over period" triiier and "starts a service" as the consequence. 

D. Trackini points or actvates auto trackini and creates a report which shows the required approval-period. The
customer can supervise the SLA themselves. 

Correct Answer: C 

 

QUESTION 4

How are the 3 editons, Express, Standard and Advanced, of IBM Business Process Manaier V8.5.5 diferentated?
(choose 2) 

A. Advanced Editon has built in ESB and SOA capabilites. 

B. Standard Editon and Advanced Editon support BPEL and BPMN. 

C. Express Editon and Standard Editon support load balancini. 

D. Express Editon is limited in number of cores and number of users. 

E. Express Editon and Standard Editon support Intel and Power Platorms. 

Correct Answer: CD 

 

QUESTION 5

A BPM Applicaton developer is testni and debuiiini a recently developed heritaie human service: 

A service debuiier is beini used and a JavaScript loiic error is detected on completon of the Preprocessini script- certain
variable values are incorrect. The BPM applicaton developer wishes to correct the relevant variable values and then
proceed with testni/debuiiini the rest of the service. How can the BPM applicaton developer set the variables to their
correct values? 

A. Edit variables in the service debuiier browser window 

B. Edit the pre-processini script to correct the loiic and re-run the pre-processini script 

C. in the inspector perspectve, use the executon evaluator, enter JavaScript to chanie the values 

D. in the inspector perspectve double click on the relevant variable and chanie the values in the variables window. 

Correct Answer: D 
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